Edexcel AS Further Mathematics Vectors o

Section 3: The equation of a plane

Exercise level 2

1.

(i) Find, inthe form r.n=d, the equation of the plane which contains the point
(2, -6, 1) and is perpendicular to the vector 3i+ j+3k.

(i) Write the equation in Cartesian form.

(iii) Find where the plane and the line r = j — 2k + A(2i — 5j + K) intersect.

(iv) Find the angle between the line and the plane.

(i) Find the position vector of the point of intersection of the line

2 1 -5
r=| 0 |+4]3|andtheplaner.| 1 |=9.
-1 0 -7

(if) Find the angle between the line and the plane.

A plane contains the points A (3, 0, 2), B (1,-1, 1) and C (2, 3, -1).
Find the equation of the plane
(i) inthe form r=a+Ab+ uc

(i1) in the form r.n=d

Show that the plane r.(3i — 2j + k) = 1 contains the line
r=3i+3j-2k+A(i +j—Kk).

1 2 -1
A plane has equation r=| 2 |+ 4| -1 |+ x| 3
0 3 2

Write the equation of this plane in Cartesian form.
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